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5,000
11,660

8,330

8,330

= M

16,660

16,660

5,000
11,660

8,330

8,330

= H

85,680

25,704
59,976

80,280
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Mer=X YRFEX 23,000 23,000 0
203 YR FXH 23,000 23,000 0
03 Al F=R AR F Y| 23,000 23,000 0
O=X&E YRFA 10,000
OME=SIX 43 FA 8,000
OMEETAMHIA JR=A 5,000
HOIXt ABO L 1,000 1,000 0
301 YLt A3 1,000 1,000 0
12IIEtEA 23 1,000 1,000 0
O#OIXt #E ot 20,0002 x50 1,000
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< 7,000
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[ 7,000
Al 28,000
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Al 321,041
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OAMZ=X2 2YHI(RL MIISXHE I 758,682
s 345,000
Al 413,682
FHoAHE olSSSUY X 20,000 20,000 0
307 2120l & 20,000 20,000 0
10 Al2I=X2x 20,000 20,000 0
OFANE OISR X 20,000
HPAMWOIIE HIQ2 X 27,000 24,000 3,000
301 LBt A3 27,000 24,000 3,000
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= 7,349
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Al 17,150
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05 BI2t9IEI2 13,000 20,000 AT,000
OOHIE HE eithAted 13,000
COIHAXAME 2 150,000 150,000 0
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OLQHAXAME 2 150,000
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Lol =X 50,000 46,000 4,000
201 L2 50,000 46,000 4,000
03 &ALZ G 50,000 46,000 4,000
OLQ1o & A} 20,000
ool JAHolE=Z U3l 10,000
OLel=X2 SAAL |34 20,000
LooIESE #4535t 8,000 8,000 0
307 212tol & 8,000 8,000 0
10 ARISAE X 8,000 0 8,000
ONOIEE =2X =3Us 8,000
colEoE AU 7,000 0 7,000
201 24 7,000 0 7,000
03 A2 & H] 7,000 0 7,000
ooy AU 7,000
Lo=EXAE X2 7,397,662 7,624,281 N226,619
= 468,000
= 1,201,772
= 2,850,473
Al 2,877,417
COIMEAIE XA 3,770,422 4,206,623 N436,201
= 2,639,221
Al 1,131,201
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= 2,639,221
Al 1,131,201
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= 36,612
Al 85,428
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OL=X2 SN SEE€xE 122,040
s 36,612
Al 85,428
COFIAE 25| 520,000 400,000 120,000
= 468,000
= 36,400
Al 15,600
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1,139,556

= H W
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1,382,891
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1,139,556

= N W
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401 A& HIZ 20HYI 200,000 0 200,000
01 Al &l 200,000 0 200,000
L= JIsE 200,000
AEAHA LS A 720,000 0 720,000
401 Al HIZL 20HYI 720,000 0 720,000
01 Al &l 720,000 0 720,000
ORETAA LosX= 720,000
SRR 2l 140,000 500,000 A 360,000
S3H3 AIEEH| 140,000 500,000 A 360,000
401 Al HIZL 2 0HYI 140,000 500,000 A 360,000
01 A& HI 140,000 497,120 A357,120
Ost&E2I| A2 WA 140,000
FTHAZ 40,000,000& x27] 80,000
[ DR EAE= 30,000,000& *27| 60,000
=JtEE 22| 588,000 126,000 462,000
= 60,000
Al 528,000
ss2el 588,000 126,000 462,000
= 60,000
Al 528,000
SE2dAt & SHHXZ 26,000 26,000 0
201 L EH2FH| 6,000 6,000 0
03 A2 Gl 6,000 6,000 0
OEEAE dHArel 2 6,000
307 QI2tol A 20,000 20,000 0
10 AL =X X 20,000 0 20,000
OE=3d =82 &b 2,000
0s=32d =2H XN& 8,000
©6.258 ™ AL & OHESHE Ast 10,000
SESA4E FH 2 B 37,000 37,000 0
206 M = 4| 3,000 3,000 0
01 MHZ I 3,000 3,000 0
oZglz & XZ HAME 3,000
401 Al HIZ 2O 34,000 34,000 0
01 Al & Hl 34,000 34,000 0
OZZEX BI2HZ 2,000
O=ZEX S#ZEYI 6,000
osuesxEE AR 6,000
OE=A4 U ¥ 2=+ 20,000
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SECH X2l AY 63,000 63,000 0
206 TH 2 3,000 3,000 0
01 T2 bl 3,000 3,000 0
OBECHH LXt2l At 3,000
301 YA 60,000 60,000 0
01 A S & X 253 60,000 60,000 0
OFECHH LXt2l A 60,000
2ELY X 402,000 0 402,000
301 YuHB A 402,000 0 402,000
01 MBI 2 HH 462 402,000 0 402,000
ozE+y X 402,000
oz=4y 10,0002 *3,0002] 128 360,000
YRR 10,0002 ¥35% +122 42,000
WE TS Js2Y 60,000 0 60,000
= 60,000
402 Q12X+ 0/ 60,000 0 60,000
= 60,000
01 PIARZERE 60,000 0 60,000
OMEZIEB JSLY 60,000
= 60,000
04Ol =SXSE 27,392,955 22,863,976 4,528,979
= 11,844,956
= 1,087,112
= 7,353,691
Al 7,157,196
D04l MEOHY X 14,792,883 12,248,808 2,544,075
= 9,817,278
= 1,984,539
Al 2,991,066
ZOHQI=X LX2l K 220,050 172,260 47,790
= 110,025
= 55,013
Al 55,012
307 212H0| & 220,050 172,260 47,790
= 110,025
= 55,013
Al 55,012
NEEEES 220,050 172,260 47,790
OFOHQI=R LR2| K 220,050
@02t 209,790
= 104,895
= 52,448
Al 52,447
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= 205,218
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Al 102,609

101 1248 410,436 400, 140 10,296
= 205,218
= 102,609
Al 102,609

04 JIZH2R IS S 410,436 400, 140 10,296
0T #H 0| 410,436
=2 205,218
= 102,609
Al 102,609

Dol WEEXI|T DE 26,468 19,838 6,630
=2 21,170
= 2,649
Al 2,649

301 LA 26,468 19,838 6,630
=2 21,170
= 2,649
Al 2,649

01 Al B & 453 26,468 19,838 6,630
OFMe WEEEIIT DL 26,468
=2 21,170
= 2,649
Al 2,649

ZofQl o 2H| N 484,132 497,252 A13,120
= 387,410
= 48,361
Al 48,361

307 BI2+0| & 484,132 497,252 A13,120
=2 387,410
= 48,361
Al 48,361

NIEEEEET 484,132 497,252 A13,120
OO o2l X 484,132
=2 387,410
= 48,361
Al 48,361

ZoHel S= TSy X2 8,307 8,456 A 149
= 4,155
= 2,076
Al 2,076
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= H W
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45,000
45,000
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45,000
45,000
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45,000
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o M22E 24,000 24,000 0
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16,800
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307 21Z2tol & 24,000 24,000 0

7,200
16,800

= H

10 ASI=ZX 2% 24,000 24,000 0

OFOfo M2 24,000
7,200
16,800
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sSHE H0HQ =2 X 19,000 38,000 A 19,000
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4,750
4,750

= HnH

402 QI 2tXH201 A 19,000 38,000 A 19,000
9,500
4,750
4,750

= H W
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301 YBHEAS 54,300 54,300 0
12 JIEH2 A3 54,300 54,300 0
ONAS HSEW O A2 e 46,800
OTAlZt BHE XHRZAR 24 7,500
Dol =XIB SN 22 12,000 10,000 2,000
307 212H0| & 12,000 10,000 2,000
10 A8l =X 2 = 2,000 10,000 2,000
OB =SXJIZ FSX 23 12,000
BOHHE DA 29 5,000 5,000 0
307 212H0| & 5,000 5,000 0
NEEIEES 5,000 5,000 0
OBMHERA 2% 250,000 *203] 5,000
ool BELE FNY Al 430,272 207,360 222,912
= 129,082
Al 301,190
307 212H0| & 430,272 207,360 222,912
= 129,082
Al 301,190
NEEEES 430,272 207,360 222,912
OO BESX ZIINA AL 430,272
= 129,082
Al 301,190
CIETOfL BAXRS X2 15,000 15,000 0
301 YBHEAS 15,000 15,000 0
12 JIEH2 A3 15,000 15,000 0
OOIEFfQ BAKAZ X2 15,000
Dol LHel TERAY 2Y 40,000 40,000 0
307 212H0| & 40,000 40,000 0
05 BI2t9IE2 40,000 40,000 0
OO A2 RERAY 2 40,000
HOHOLS THE X2 A 1,189,935 996,131 193,804
= 832,953
= 118,996
Al 237,986
307 212H0| & 1,189,935 996,131 193,804
= 832,953
= 118,996
Al 237,986
05 BI2t9IEr2 1,189,935 996,131 193,804
OFOIOLE TEX B AL 1,189,935
= 832,953
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= Hn W
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45,000

8,000
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62,400
43,680

6,240
12,480

36,000

26,400
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= HnH

62,400
43,680

6,240
12,480

36,000

26,400

=z HnH

62,400

62,400
43,680

6,240
12,480
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26,400

=z HnH

5,598,120
3,920,245

559,292
1,118,583

5,712,330

A114,210

= N W

5,598,120
3,920,245

559,292
1,118,583

5,712,330

A114,210
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5,598,120
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3,920,245
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307 2I12H0| 5,968,463 0 5,968,463
2 4,177,922
= 895,271
Al 895,270
05 BI2k2I=r3 5,968,463 0 5,968,463
OZ0HO BSXAAY 5,968,463
2 4,177,922
= 895,271
Al 895,270
Zojol SRl X 484, 185 702,372 A218, 187
2 36,000
= 63,852
= 92,755
Al 291,578
ANZZOOl BXIDS 12,750 12,750 0
= 3,825
Al 8,925
307 2I12H0| 12,750 12,750 0
= 3,825
Al 8,925
EENEES 12,750 12,750 0
OANAZORL BRUDS 12,750
= 3,825
Al 8,925
Zojolel & Al 12,000 12,000 0
201 Lr2e Y] 2,000 2,000 0
03 & A2 Z bl 12,000 12,000 0
OFOHIOl & A 12,000
Zojol ETIZ S 10,000 10,000 0
307 2I2H0| 10,000 10,000 0
10 MBI =T 25 10,000 0 10,000
OF 04Ol AEHSHE 10,000
M= FO0He HMSUE FIN 8,000 8,000 0
301 e a3 8,000 8,000 0
10 BAAIHI 243 8,000 8,000 0
OFS ZOHQ MEHE HIIX 8,000
M= O a4 NHYMBEI 2Y 15,000 10,000 5,000
307 220 15,000 10,000 5,000
EEESEES 15,000 10,000 5,000
ORE TN 243 NP4THI 29 15,000
B2 A2AZHQANE S HEAKE 15,000 15,000 0
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307 QI2tol A 15,000 15,000
10 MBI SXEE 15,000 15,000
O&= AMATMHAAZ S MFAIX2 15,000
M2 XMEOHQ 83 MFAIXS 10,000 10,000
307 2120l & 10,000 10,000
10 Al S XX 10,000 10,000
O&= XHEOR HEsl EF=AlIXE 10,000
M2 SO0tIEs ®EAIXS 14,000 14,000
307 BI2t0| & 14,000 14,000
10 At S X2 X 14,000 14,000
OXE SO0lEsl MEAIX S 14,000
M2 L2 MEAIX S 5,000 5,000
307 2120l & 5,000 5,000
10 MBI =X 5,000 5,000
ONE ZHRR23 MFAIXIS 5,000
ZOHQIEHH AFRA XI&A 18,000 18,000
307 2I2tol A 18,000 18,000
10 MBI S XX 18,000 18,000
OFOMAHH AMRA & 18,000
0ol HENSMH 29 15,000 15,000
307 2I2t0l & 15,000 15,000
10 A= XX 15,000 15,000
OFMe HEuEHH 29 15,000
AHEHCIE2 2atHE ¥ HOoHe s 6,000 6,000
307 BI2t0| & 6,000 6,000
10 At S X2 X 6,000 6,000
OXNMEMHLES 23ME L HOHIs 6,000
NS DSHOHIES HFAIX S 5,000 5,000
307 2120l & 5,000 5,000
10 MBI =X 5,000 5,000
ONd= WX M=F=AlKX 2 5,000
=2 AXNEOLIES MFAIKE 5,000 5,000
307 2I2tol A 5,000 5,000
10 MBI SXEE 5,000 5,000
ONE AXNEHCIE EF=AIKIS 5,000
HMEA ZOHQICHH S018H3) 5,000 5,000
307 2I2t0| & 5,000 5,000

_24_




A dEST
XM ROl 2XNEX
(=t =} — -/ (=T

SRl ZoHel S K& (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
10 MBI EXEE 5,000 5,000 0
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X=Zfe NEXAAE 29 105,700 102,622 3,078
s 36,995
[ 31,710
Al 36,995
307 2120l & 105,700 102,622 3,078
2 36,995
[ 31,710
Al 36,995
10 A= XX 105,700 102,622 3,078
OXNEZOQ NEAJAMYH 2 105,700
= 36,995
[ 31,710
Al 36,995
KNHZEOHe HOAlE XZHEH 29 76,735 63,000 13,735
= 26,857
[ 23,020
Al 26,858
307 2120l & 76,735 63,000 13,735
s 26,857
[ 23,020
Al 26,858
10 MBI =X 76,735 63,000 13,735
OXIXMAEOL HOAL XJAHH 2 76,735
s 26,857
[ 23,020
Al 26,858
Zofel ofstn 29 X 99,000 66,000 33,000
[ 29,700
Al 69,300
307 2120l & 99,000 66,000 33,000
[ 29,700
Al 69,300
10 A= XX 99,000 66,000 33,000
OXOofQ ofstn 29 X2 99,000
= 29,700
Al 69,300
Bt ZOHIR 23| HMEAIX S 2,000 2,000 0
307 2I2t0| & 2,000 2,000 0
10 MBI =X2x 2,000 2,000 0
Ost= HHUR23 d=AlIX S 2,000
HAZHRl DA 45,000 70,000 25,000
= 36,000
[ 4,500

_25_




SN ME=X D
Ha: Zojel =2XEA
el ZOHO!l SR KIR (B9 &2

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

Al 4,500

307 212+01 o 45,000 70,000 25,000
36,000
4,500
4,500

= HnH

10 At S X2 X 45,000 70,000 A25,000
OH&Ee WsAE 45,000
36,000

4,500
4,500

= HnH

e SXNAIE X& 10,222,743 9,484,326 738,417
1,065, 106

959,260
4,801,111
3,397,266

= HHD JY

oy
2
o
0x
i
>
x
o
02

Hl XI& 3,572,408 3,432,408 140,000

2,500,682
1,071,726
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307 2I2tol & 95,274 92,500 2,774
33,346
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33,346
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= H A

0 ssdatd =29 323,176 313,768 9,408
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96,950
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35,576
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240,165
205,856
240,166
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10 At S X2 & 686, 187 666,201 19,986
oFoel=X2 22| 686, 187
240,165

205,856
240,166

= H1 AL

ZOHQ IotsXIME =29 105,497 102,424 3,073
44,836
15,825
44,836

= H A

307 2IZtol & 105,497 102,424 3,073
44,836
15,825
44,836

= H A

10 ARSI 2 X 105,497 102,424 3,073
OFOML =X 2 105,497
44,836

15,825
44,836
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=
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= H
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